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Part - 111
COMPUTER APPLICATION (COMMERCE)

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes
K General Instructions to Candidates : \

® There is a 'Cool off time' of 15 minutes in addition to the writing time.

® Use the 'Cool off time' to get familiar with questions and to plan your

answers.
® Read the questions carefully before answering.
® Write answer to the specific number of questions as instructed.
® C(Calculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® Give equations wherever necessary.
® KElectronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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TYPE - A

Answer all questions from question

numbers 1 to 5. Each question carry

one mark.

1.

Meaningful and processed form

of data is known as .............

Write the full form of USB.

.......... is a step by step procedure

to solve a problem.

What is the name of files created
to support C++ programs and

kept in the standard library.

Find out the odd one from the

following :
a) DOS
b) DSL
c) ISDN

d) FTTH

1)

e

(1)

(1)

e
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1 oyedd & eowiss agelo c2l108yBRalo

OO0 g LI, BIGVO 82108 1 modLs

Aflo.

1.

@ dmaalydepalio @laloV QY
02U H®IN0QW WORWINS ©Jalo

................... ag)MAleqsiamy,

USB wios aden @laionsy@.

80 (Mo al@ladlenymalay’

s8] CAISo  CRISOOWIES

MNSAISIQOEN ..o .

CH++ 0non)@68 Ma00Qlean o

mol  mldoley  gROMAOdW
668l (En01H 1@ el o)’
6 oJ10186H0M aNQENHBIOS
Balen0?

®OOY 6&HOS)OWIFes UG mlam

BISOT@ OAISOTD® ag)SIOTDLI®ID>.
a) DOS

b) DSL

c) ISDN

d) FTTH
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TYPE - B

Answer any nine from question

numbers 6 to 16. Each question

carries two marks.

6.

10.

Despite of the high speed and
accuracy, computers are said to
be the slaves of human beings.

Why?

Name the four e-Waste disposal

methods.

What are the features of RAM?

Problem solving by computer
proceeds through different
stages. Name the stages in

correct order.

Write the output of the following

C++ expressions.
Let a=7, b=2.
a) a+b=*3/++b;

b) a<=7&&b>1;

(2)

(2)

(2)

(2)

(2)
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a) at+b=*3/++b;

b) a<=7&&b>1;
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11.

12.

13.

14.

15.

Detect and correct the errors in
the following C++ code.
#include<iostream>
using name space std;
int main Q;
{
int a, b;
cout<<"Enter two numbers:"';
cin>>a and b;
a+b=c;
cout<<"Sum = "'<<c;
return O;

}

Rewrite the following code
using switch case statement.
if (Lan == "M")

cout<<"1 prefer
Malayalam';
else if (Lan == "E")

cout'l prefer English';
else
cout<<'"1l prefer neither
Malayalam nor English';

There are many advantages in
using networked computers
instead of stand-alone
computers. Write any four

advantages of them.

What is the importance of
TCP / IP protocol in computer

networks?

Write any two drawbacks in

using social media.

(2)

(2)

(2)

(2)

(2)
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15.
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#include<iostream>
using name space std;
int main Q;
{
int a, b;
cout<<"Enter two numbers:'';
cin>>a and b;
a+b=c;
cout<<"Sum = "'<<c;
return O;

}
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if (Lan == "M")
cout<<"1 prefer
Malayalam';
else if (Lan == "E")

cout'l prefer English';
else
cout<<'"1l prefer neither
Malayalam nor English';
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16. e-Business has many
possibilities in the business
world, but

challenges. Write about any two

it faces some

challenges in e-Business.

TYPE - C
Answer any nine from question
numbers 17 to 27. Each question

carries three marks.

If (]\/[)8 = (96), = (N)z’ find M
and N.

17.

18. Following is a flowchart to find
the sum of the first 50 natural

numbers.

(2)

3)
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A\
N
7
« No
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Yes C Print Sum )
‘ﬁ/Sum = Sum + ]y Y
N=N+1 Stop

a) Correct the flowchart if a) 8qQoaloBSIM OMAE-B66NEE:IE
there are errors. (2) @l 0yOD0.
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19.

20.

21.

22.

23.

What is debugging? Which are
the different types of errors that

may occur in a program?

a) What is a token in C++?
b) Distinguish between

keywords and identifiers.

Data types are necessary to

declare variables in C++.

a) What is a data type?

b) Write the classification of
fundamental data types in

C++.

Write a short note on arithmetic

and logical operators in C++.

a) Write the equivalent
arithmetic operations for the

given C++ short hands.
1) x % = 20;
1) a+=2;

iii)p / = 5;

b) What 1is the difference

between a = 20 and a == 207

3)

(1)

(2)

(1)

(2)

3)

(1%)

(1%)
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1) x % = 20;

i) a+=2;

i) p /= 5;
b) a =
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24.

25.

26.

217.

Write a C++ program to find the
simple interest of an amount (P)
deposited with a rate of interest
(R) for a period of years (IV).
Rate of interest = 7% if deposit
amount P is less than 1 lakh.
Rate of interest = 8% if deposit
amount P is between 1 lakh
and 5 lakhs.
Rate of interest = 9% if deposit
amount P is above 5 lakhs.
(Hint
P x N x R/100)

Simple interest =

a) Give the output of the
following code.
for (i=10;1<30;1+=3)
{
cout<<i<<'"\t";
}
b) Rewrite the code using while

loop.

Explain briefly about the

wireless broadband connectivity

methods used for internet
connection.
e-Learning allows us to

overcome many limitations of

conventional teaching-learning

process.

a) Name any three e-Learning
tools for enhancing
e-Learning process.

b) Write any three advantages

of e-Learning.

3)

(1

(2)

3)

(1%)

(1%)
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for (1=10;1i<30;i+=3)
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TYPE - D

Answer any two from question

numbers 28 to 30. Each question

carries five marks.

28.

29.

30.

a)

b)

c)

a)

b)

Write a detailed
classification of software.
Some programming

languages use compiler

whereas some use
interpreter. What makes
them different?

What do you mean by free

software?

What is a type conversion?
Which are the two ways of
type conversion?

Define type casting.
Consider the C++ code
intp=7, q=2;

float a, b;
a = p/q;
b = (a+q)/q;

Find the values of a and b.

a)
b)

Define the term, topology.
Consider that, your principal
has decided to network your
computer lab. Which topology
will you suggest? Justify your
answer.

Differentiate between LAN
and WAN.

(2)

(2)

e

(2)
(2)

e

(1

(2)

(2)
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intp=7, q=2;

float a, b;

p/q;

(a+a)/q;

a-=
b
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